R0et . Hfta gt 3 @ : 4

RO No. of printed pages : 4
144 444 (IPL)
2022
e faem (dgafa®)

COMPUTER SCIENCE (THEORY)
7Y : 3 ¢ | [ quife : 70
Time : 3 Hours | [ Max. Marks : 70

fRder: (i) T v fHErt 2
(ii) SOTET 97T : C*Y
(iii) ¥ & 3@ I T 3ifpd 2|
Note : (i) All questions are compulsory.
(

i) Programming language : C**
(iii) Marks allotted to the questions are indicated against them.

1. (®) WY AR @ed @ a1 8 89 2
What are local and global variables?
(@) BT vd TR Ba=H H 9T 30X 87 2
What is the difference between constructor and normal function?
() e ¥ Svgaes @ aHsse 2
Briefly explain Destructor.
(u) et aR Fr=1 9mT “Hello” fiiFe axam? 2

How many times the following program will print "Hello"?
# include <iostream.h>
void main ()

i
while (1)

{

cout << "Hello";

¥
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(5)

() T o & o sevas g% BEed & AW 15 - 1
Name the header files that shall be needed for the following code -
void main ( )

{

char word [ ] = "Board Exam";
cout<< setw (20) << word;

i
(i) W FREETETH & ugar 7 & a1 dieed 8Nl - 1
What would be contents of following after array initialization -
int A [5] = {3, 8, 9}
TR BaeH TE WY RIATgeH ReR FHAEe| 4
Explain Member function and scope resolution operator.
Eave Bz § 9T BIget TR a1 &7 2

What are basic file operations on text file?

FrefiRad Refrem & #ee J @R T qod B C++ H URHING Hifoe : 4

Define a class named Tour in C++ with following description :
Private members :
tcode integer (Ranges 6-10)
adults, children, distance integer
total_fare float
Assign_fare ( ) A function which calculates fare and
assign value to data member total_fare
total_fare calculated as follows :
- For adults
For every adult a fixed Rs. 100 is charged as fare.
- for children
For every child a fixed Rs.50 is charged as fare.
Public members :
* A constructor which initialized all data members with O.
*  Function Enter_Tour ( ) to input the values of the cata members
tcode, adults, children and call to Assign fare function.
*  Function show_tour ( ) to print all details of object of Travel type.

3. () 3eide RIS UrnfET | 37 FT THEd 87 2

What do you understand by object oriented programming?

(@) fiF b 5 Fed &2 3aER0T |fed wHEse| 4
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What is friend function? Explain with an example.
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e RaeRe™ @ 7 ¥, ¥l &6 IR Qo : 4

Consider the following declarations and answer the questions given below:
class vehicle
%
int wheels;
protected:
int passenger;
public:
void input_data (int, int);
void output_data ();};
class heavy_vehicle : protected vehicle
i
int diesel_petrol;
protected :
int load;
public :
void read_data (int, int);
void write_data ();};
class bus: private heavy_vehicle
{char marks [20];
public :
void fetch_data (char);
void display_data ();};
Name the base class and derived class of the class heavy_vehicle.
Name the data members that can be accessed from function display_data()
Name the data members that can be accessed by an object of bus class.
Is the member function output_data() accessible to the objects of heavy-

vehicle class.

B B Heg Y Shad T @1 IR b Taie § gaer o o TeiReA
foRae| 4
Write an algorithm to convert infix expression to postfix expression using
stack.

TF DX A [10] [20] ¥R § 31 Afed R fovar Siar 21 39 W & & viedc o 4
8¢ RS & HaTIEdT #1 Rk PR A BT 9 USE 5000 & A1 R A [3] [5] BT W
el 3
For a given array A [10] [20] is stored in the memory along the row with
each of its elements occupying 4 bytes. Calculate address of A [3] [5], if
the base address of array A is 5000.

[3] [P.T.O.
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5. (@) TR PH-BF Al Ghame oI 5T Fabell &7 THST| 3

What are the operations that can be performed on Queue? Explain.

(@) §9a 9i¢ & foe vemRen foRae| 4
Write an algorithm for bubble Sort. :
6. (B) SQL T &? 39! a9 sarse| 4
What is SQL? Write its characteristics. ;
(@) seed & wed A FefaRad o aRenfva i - 4
With reference to database define following :
(i) Field (ii) Record (i) Database (iv) Primary Key
BIeS Rorg S TTSHRT &
7. (@) Mg ofmr: 2
Prove that :
Xy+yz+yz'=y
(@) st S & S Rigie v veset o (o 851 @1 ) 31 ke o
Hearud S| 3
State and verify Duality principle and Absorption law in boolean algebra.
(M) Tk F(a, b, ¢, d)=2(0, 2, 4, 5, 7, 8, 10, 12, 13, 15) 3

ar K-map @ Heg I TRl SITe|
IfE.(a, b, c,;d)=2(0;7274, 5, 7, 8 10712, 138I15)
Obtain the Simplified form using K-map.

8. (&) 39 vd o | FT 3R &2 2
What is the difference between WAN and LAN?
(W) |IZaR &1 & &I RN §d15e| 2
Write two applications of Cyber Law.
(m) el ar grathe Hifgar & am HRkav 2
Write names of any four Transmission media.
(o) aRwiva SHifome : 2
Define :
(i) E-Mail (i) SMS
3-9e Y T4 T
(7) Fr=fofRad &1 g1 am foRae - 2
Expand the following terms: |
(i) MODEM (ii) CDMA
Hisy qrsreae
%k ok %k k %k
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